PO—=77GTK=311W

1500

BN (1/20)
150 1000 1000 1000 e T 311
205 147 2@148 147 905 ¥
—598 076.3x13.2
Iy iy iy =
e 3 il
B palllize palllice
| | |
(@] O
NEE 3
| | \ |
g D | pOy D | B _
GLI| N \ \ =5 I |
2 K \¢48.6><t2.4 \¢21.7><t1.9 \KF /A2 -
0114.3%14.5 8
S L
D
N
BAHEB (1/4) /
(@)
S34Yy b HA- S| A :
RBRHL A2 4YF-RY-7 o 0800
M5x 12 / /¢76.3>< t3.2
— _
X-ATL - EHBR (1/10)
A B b
BH%l M10% 25 71—+ 116
. NETAR L b
Rt 4-922
RERATL T M12% 25 $48.6x 12.4 3
_/ PR
() gls
@ | <= \/,| ¢
4 T 4
S
KERHIR 300 | 140 | |30
KERAFD b “TA’;&”(“;O’”
M10x 140 200

9114.3xt4.5

GL |

bl

400

1100

PS—77GTK=311E

P5—77GTK=311PL

(@») O
- —
_ - =
B
= 2h ek
D16x 300| © o) = -
| B o
i %@, ~| GL 4ls LT o7
2 ‘4 |2
N &}
S| Y| 1 [ & BREDTE L M6
§ 7y H-%h FM16X 190
g — (FyrEP19%&130mm)
0400
% % it & B2
x 1 STK400#8% | BB B > S+ HENRER
BREAZ STK400 B &+ HERRESR
F B STK400 B &+ HERRESR
(v +-21-7| SGH400 B S+ HENRRE
FiHL B SGH400 Bipso F+HENRER
48GKC2E | 7362 BifiRi
JaAyinn-| 7hi8% DR
INGEY A SUS M10x 140
RATMODEY H SUS M10x 70 JOv ZXE
NETS RN b SUS M10x 35 JOvZE
AT b SUS M12x 25
Ry SUS M10x25 7oV A®
AARAHEx 29 SUS MOX 12 IEx %Y
ANk SD 295 D16x 300
TYh-®N b | 4.618% AEEHH-> & M16x 190
BN T M16R

CEZ) R=2TL - O TBRBE. FHBHD-> L LET,
BRBECIVEVEET B ENHYET,




